Practice Test                                         Name: ______________________
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For numbers 1 – 6, circle the method that you used.  Try to use each method at least once.  (Note:  You only need to use the graphing grids for the problems that you choose to solve by graphing.) 
1.  graphing

substitution 

elimination


2x – 3y = 61


2x + y = -7
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2.  graphing

substitution 

elimination


y = - 
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3.  graphing

substitution 

elimination


-5x + 12y = 30

x = 2y – 6
4.  graphing

substitution 

elimination


3x + 6y = -6


-5x – 2y = -14


5.  graphing

substitution 

elimination


y = 3x + 2

-3x + y = 6

6.   graphing

substitution 

elimination


2x + y = 7

8x + 4y = 28


7.  graphing

substitution 

elimination


y = 3x - 2


y = 2x + 1

10. A rectangle is 4 times longer than it is wide.  The perimeter of the rectangle is                                            30 cm.  Find the dimensions of the rectangle.

Equations:



Work:


Sentence explaining your solution:

11.  The boosters are selling t-shirts for a fundraiser.  Adult shirts costs $10 and youth shirts cost $8.  If the booster sells a total of 228 shirts and brings in $1984 how many of each type of shirt was sold?

Equations:



Work:


Sentence explaining your solution:

12.  For each of the following, determine how many solutions the system will have, without graphing or solving.  Explain how you know.

a.  y = 3x + 6





y = 4 + 2x




    
b.   y = ½ x – 3





y = -4 + 0.5x




c.  3x + y = 8





y = -3x + 8




    
13.   Will the line that runs through the points (-4, 8) and (-2, 12) intersect with the line that runs through the points (1, 2) and (4, 8)?  Explain why or why not.


19.  The graph at the right illustrates the rate at which Dave and Joe are saving money.  
a.  Estimate the solution to the system.
b. Explain what this means in the context of the saving money scenario.  
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